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Deployment Diagram Data-Fitting Model Class Diagram

Browser < > Front-Server

®API I

+ FulerMethod(); +lsgeurvfit();

Backend-Server

]
1
-alpha : float; !
-gamma : float; . .
m -Sdata : vectar<float>; ! -S @ vector<float>; !
—Population : float: / -Idata : vector<float>; ‘\K"_L__ -E : vector<float>; |
EILEIEteTD BT -Rdata : vector<float>; -1 : vector<float>;

+disease : Disease

Python Scheduler

1
+M : SEIR; i -R : vector<float>;
+m : SIR; | -Rsq : float;
1
[ ! +EulerMethaod();
Data Fitting Model : s pleridgtedo
1
1
1
w2z Crovler CE—
]
-S : vector<float>
-l : vector<float>
-R : vector<float>
-Rsq : float
+EulerMethod();
+lsacurvfit();
@DB x—l Xt
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Database /
(MysQL)
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System Test Case
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